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Pearson’s R = 0.96 Pearson’s R = 0.96 Pearson’s R = 0.97

replicate number
1 2 3 4 5 6 7 8 9

1 1.00 0.94 0.98 0.97 0.97 0.86 0.87 0.91 0.77

2 0.94 1.00 0.94 0.94 0.93 0.84 0.86 0.87 0.74

3 0.98 0.94 1.00 0.97 0.97 0.88 0.87 0.91 0.77

4 0.97 0.94 0.97 1.00 0.97 0.85 0.89 0.90 0.77

5 0.97 0.93 0.97 0.97 1.00 0.87 0.88 0.90 0.77

6 0.86 0.84 0.88 0.85 0.87 1.00 0.75 0.81 0.61

7 0.87 0.86 0.87 0.89 0.88 0.75 1.00 0.83 0.70

8 0.91 0.87 0.91 0.90 0.90 0.81 0.83 1.00 0.72

9 0.77 0.74 0.77 0.77 0.77 0.61 0.70 0.72 1.00

yLB13a x yLB121

yLB13a x yLB122

yLB72 x yLB66c

Kl. lactis and Kl. 
wickerhamii strains used:
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